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1. ﬁmvﬁﬁm@'@qﬁm:_ 4x4=16

Answer any four questions :

(@ R I 1 IR I AR e I
AM 2GM 2HM
Prove for any two non-zero values that

AM >GM =HM
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(d)

(e)
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Which measure of dispersion ig
regarded as the best measure and why?

SRR Resmed acnsaEe[ [ S
9 |

Discuss about the uses of regression
analysis.

2 91 (T Il (IR0 A=oTTH A=A T T
R e o g et ST =y

Prove that Karl Pearson’s coefficient of
correlation is not dependent on origin
and scale of measurement.

RRT PpIre 1 e Spers B st 50
2 ? A F7 |

Discuss why Fisher’s index number is
regarded as an ideal index number.

I e (IRT ooy wRace agaer A

R «fb o5 Gt fora

Write a short note on graphic method of
measuring trend in a time series.

( Continued )
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2. (@ () Qo Pl SPhifs Reema q9w@ i
TR T 642 SF 70-8 smﬂ@@q
T 9= 2 4

In a moderately asymmetrical
distribution, mode and mean are
642 and 708 respectively. Find
median.

(i) A B @A 500 & FHGEA
TRA wwER A% 5,000 O
REANGR  *FF WF  qZEM FHRE
TRA T@HER T 5,200 TIWE
4,200 TF1 1 @EANGR FW PR
ST I 2 5
The mean monthly salary of 500
employees of a company is ¥ 5,000.
The mean monthly salary of male
and female employees are ¥ 5,200
and 4,200 respectively. Find the
number of male employees of the
company.

(i) oo fim Remera WS [/ ER
oo fefa < 7

Calculate mean deviation from
median for the following data :

O g} . 200-400 400-600 600-800 800-1000
Wages
REAALS : 6 9 20 15

No, of workers
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%41/ Or
() (i) T 1 oA A1 B0 AE Fom ey
4l
Calculate quartile deviation for the
following data :
orfr 7 (5719) 15-25 25-35 35-45 45-55
Daily wages ()
e ' 10 15 25 40
Frequency
o ﬂcj@(m) 55-65 65-75 75-85
Daily wages (T)
IR 35 20 5
Frequency

(i) oTs R Rome" e T i-46: Ty
IRQRCIREA ey 541 -

The .arithmetic mean of the
fOllOWl.ng distribution is 1-46. Find
the missing frequencies :

RIGT 718307 :
No : -0 1 2 3 4
. of Students ° ‘ ?jj
‘ Total
Frequency : 46 fi fy 25 10 5 20

16-21/171
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i) oo Rl wAR e amfa ReeE fd
<91 T
Calculate standard deviation for the
following data :

59 . 0-10 10-20 20-30 30-40 40-50
Marks
gas R : 5 13 16 8 5
No. of Students

3. (@ (i) FTREREE R0 PR & 152 4

What are the properties of the two
regression coefficients?

G) @ =g, r=0-5 Xdxdy=120,
$d2 =90, 62 =8 PR Q@A KA
e 2 . | 5
Given, r=0-5 > dxdy =120,
$d2 =90, 62 = 8. Find the number

of pairs of items.

(i) oo fwgl @Y [ Karl Pearson-9
TDTIF BT T+ el 90 ¢ 7

Find the Karl Pearson’s correlation
coefficient for the following data :

X : 20 25 30 35 40 45
: 41 34 10 60 50 45

=<
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FiZq1/ Or

(i) iWy@WW@WWW
r=0-50, x 9 yI P9 FEe 295
Wi 4-0, ¥ =10, g =20. 92 SRR
o9l yd TACOCF xT REAT  Figaq
Sfener |
The correlation coefficient of two
variables x and y is r=0.50,
variance of x and y are respectively
'2:25 and 40, X =10, ¥y =20. From
the data, find the regression
equation of x on y.

(i) T =CR, o1 FARRET AN
~ 8x-10y+66 =0
F 40x-18y =214
X S 3 STEATH BT T By 90

Given the two regression equations
as

8x-10y+66 =0
and 40x-18y =214

Find the coefficient of correlation
between x and .

( Continued)




(i) T=o fag

(7))

RN oo e e —
g =1 .

From the following data, calculate
the coefficient of correlation

X+ 11 12 13 14 18 13
y + 13 12 15 14 16 11

4 (@ () T R @ Sw o /R

()

PRI &0 4= A o o

Write the differences between

chain-base index and fixed-base
index numbers.

AT T @ RvRT Poeer T Aferm
"l%l"?[ l%T'?_\ <€

Prove that Fisher’s index number
satisfies time reversal test.

TS Al ©FF o[l [ORE @ awme IR
PR ISARICACEEC K

Calculate Fisher’s price index
number from the data given below :

Items

ffe=a Bfere 37
Base Year Current Year

77 eIt 77 AT

,:mtzomb»

22 12 25 5
30 15 g ™
15 8 18 8
12 10 L =

16217171
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J1241/ Or

) () SR P E e 152 vaEa D
e A0 % @A ST ¢4
What is cost of living index

number? How does it help in policy
formulation of the Government?

(i) @@ fr OUR 91 2010 B9 CCH
2015 WM I0IA CIRPAR I fef
91 : 5
From the data given below,

calculate Laspeyres’ price index
number for the year of 2010 and

2015 :
Ty 2010 2015
Commodity
e y(aLIC] o7 3519

Price | Quantity| Price | Quantity
A 5 50 10 56
B 2 100 2 120
c 4 60 6 60
D 10 30 12 24

i
16-21/171 ( Continued )
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(iii) e m SYq [ RevEg .
fovefy <=1 0P

Calculate Fisher’s index number
from the data given below :

el fefe e 5fere 729
Items Base Year Current Year
W s P/l off3ae
Price Quantity Price Quantity
A 10 - 10 12 8
B 8 12 8 13
C 12 12 15 8
D 20 15 25 10
E 5 8 8 8
F 2 10 4 10

5. (@ (i) ¥ e @ gl I @ "W
ISR 2 | |
What is trend in a time series?
State the factors responsible for
trend in a time series.

(i) woTe W ©YF Rl 3-T=IW I SO
AT ererel AT 40

Calculate trend values by using
3-yearly moving averages of the
following data :

*_RY 2010 2011 2012 2013 2014
Year
B 120 125 135 140 150
Production
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(i) FEeN I ANAT AT IR T fy

(b)

16-21/171

)

(@) <1

Y A< AT (T4l el 4T

Using least squares method,
calculate the trend line equation for
the data given below :

RY 2010 2011 2012 2013 2014
Year _

qre : 120 125 155 140. 150
Profit

ST/ Or

ol @A [ 2953 (000 Br)
ZATOR T y, =20-2 -8t (FRY
2010 ¥ 19 §&R 1 999 =1 I=T, y,
TAFE ) | RIS AN ‘Fﬁ"ﬁ
2015 B(3 “IfRTEH F7 |

The trend equation for publicity
cost ('000¥) of a company is
Yo =20-2-8t (origin 1st July,
2010. t unit =1 year, y unit = yearly
cost). Shift the origin to 2015.

A e R AP wfiRer A
o e ‘ﬁl—ﬁ’é RO YR
Tocifarer {3 9
Discuss about the seasonal
variation in a time series. Discuss

the uses of studying seasonal
variations,

( Continued)
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(ii)) OAS i SURAT yenafe gaae B
a1

Fit a straight-line trend to the
following data :

I : 2001 2002 2003 2004 2005 2006 2007
Year

@5 ('000%¥@) : 60 72 75 65 80 85 90
Profit (000 ©)

16217171 : ( Turn Over )



(12 )

( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. (@) () U @3RE@? 4o [ 3 541 | 4
What are the different types of
data? Describe each of them.

{ii) were i SR 2/ AP SF ILE I
ey 1 5

Calculate median and mode for the
following data :

759 : 20-30 3040 40-50 50-60 60-70 70-80
Marks .

No. of Students
(ii}) @1 i1 e amifas Reeme qm fdw
91 | 7

Calculate standard deviation for the
following data :

o : 20-30 30-40 40-50 50-60 60-70 70-80 80-90
Class .
T : 8 12 17 14 9 7 4

~ Frequency

16-21/171 ( Continued)
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1291 / Or
(b) () O T IR} frsrwm q@me fid
<9 - | 4
Calculate mode for the following
data :
ST : 0-10 10-20 20-30 30-40 40-50
Weight ‘ ,
W;{\ow . 10 14 19 17 13
No. of Youths
(ii) T Al ©F “_ 9L [oera T e
<*ql: 5

Calculate quartile deviation for the
following data :

T (5579 : 160-170 170-180 180-190
Wages (P)

S5 23] : 8 20 - 40
No. of Workers

Vﬁ(ﬁﬁq@) : 190200 200-210 210-220
Wages (7) .

qsﬁqyf\ow : 18 10 4

No. of Workers

(iii) Too fim YR [l AT [eER W
folefg <1 - 7
Calculate the value of standard
deviation from the following data :

e . 4045 45-50 50-55 55-60 60-65 65-70
Class
e - 12 13 10 18 15 12
| Frequency
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2. (@ () P vEAkE @loT e A s
231 G -T2 2T -0-4 2=
A IR LI ? 4
In a bivariate data, the sum of
squares of differences between the
ranks of observations is 231 and
the rank correlation coefficient is
—0:4. Find the number of pairs of
items.

(i) ¥oI St x ¥ yI r=0-60, x AF
yd PREY FIO 2-25 9F 40, x =10,
y=20 BT xJ AXNCF yd TN
ERIESCRCIEE 5
For a bivariate data of x and y,
r =0-60 and the variances of x and
y are 225 and 40 respectively,
x =10, y=20. What will be the
regression equation of y on x?

(i) ©=1S Tq YR <1 TR A2 I A
<q : 7
Calculate the  coefficient of

correlation from the data given
below :

Xx =56, Yy=40, Xx2 =524,
Yy? =256, ¥ xy = 364
¥ (and ) N =8.

16-21/171 ( Continued )
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29/ Or

(b) (i) SAEE FNFIT [l x+2y=5 GF
2x+Yy-8=0 2 x 9F g3 I F
2’97 4
If the two regression equations are
X+2Yy=5 and 2x+y-8=0, what
will be the value of X and 7 ?

(i) &S Tl U9 o[ TDFE QN I
&g w1 - 5

- Find the value of coefficient of
correlation from the following data :
X¥=90,7 =70, N=10, Xx? =6360
¥ y? =2860, 3 xy = 3900

(iii) TS THl ©AF W}l SRR TR 0!
Tfere ¢ 7

Find the two regression equations
from the data given below :

n=20, ¥ x =80, Ty=40, Tx? =1680
Yy? =320, Txy=48

3. (@) () PR MuRweR Ry «fb oY o
forn | 4
Write a short note on the
limitations of index numbers.
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(i) SRR @ 2 FR @ 7 B9 o
AfRmIeT SpIEE B 7

Using Laspeyres’ formula, calculate
quantity index number from the

data given below :

A fofe =9 bfer® 29
Items Base Year . Current Year
7o o4f31 7 A9
Price Quantity Price Quantity
A 15 50 20 56
B 13 100 26 90
o P 14 60 30 50
D 21 30 20 40
E 17 40 35 50
(iii) oS 7 OYR o[ RO W OPITE
ey | 7
Calculate Fisher’s price index
number from the following data :
e fofs 3= 5/e7® I8
Items Base Year Current Year
T “Ifaq ¥ 419
Price Quantity Price Quantity
A 14 10 26 10
B 14 16 26 15
C 15 20 30 10 |
16-21/171 ( Continued)
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V33T / Or
(b) (i) SPIIT A4+ IFBReE 5 s 9 4

What are the chief features of index
numbers?

() oSl ©UR R ABW @z IR
T SIS ey 41 5

Calculate Paasche’s price index
number from the data given below :

SR fefe 753 5fe7e 989
ftems Base Year Current Year
¥ AT U/ GG
Price Quantity Price Quantity
A 15 S 25 15
B 13 10 20 20
[ 14 6 20 12
D 21 3 25 6
E 17 4 20 8
(i) TS far ©YR o[ RO T OPeS
fAdfq 41 7
Calculate Fisher’s price index
number from the following data :
80 fofe 3= GRS
Items Base Year Current Year
7 31T T AT
Price Ouantity Price Quantity
A 10 10 12 8
B 8 12 8 13
C 12 12 15 8
D 20 15 25 10
E 5 8 8 8
F 2 10 4 10
16-21/171 ( Turn Over )




(18 )

4. (a) () T @S A AEE G 4

(%)

(iti)

eq
Year
aqre
Profit

(b) (1)

16-21/171

e o alb w3 G e 4

Write a short note on graphic
method of measuring trend in a
time series,

ve@ A6 Adiacd edeaed qE e

wp|fAifee Sces 41 | 5

Discuss the disadvantages of
moving averages method  of
calculating trend values.

o0 U G IR B om0 R G T

GRS 2RSM qRRE [ < . 7

Find the trend values by using least

squares method from the data given
below :

2010 2011 2012 2013 2014 2015 2016

20 2] 23 22 24 27 26

71291/ Or

I A SR ArGaTeR  RE

HTCEATD=T <41 | 4

Discuss about the uses of studying
time series.

( Continued )
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(i) =16 gl SR *@1 3-qRA e TS
ANANE 2R TFReRs g 747 - 5
Find the trend values by using

3-yearly moving averages from the
following data :

L3 1 2 3 4 5 6 7 8 9 10
Year '
ey @ 22 24 20 30 45.50 60 65 70 65

Production

(i) FEew 3o ANAR wRace wee fim v
] 2RISR TReTe el 54« 7

Using least squares method, find
the trend values for the foliowing

data :
%9 . 2005 2006 2007 2008 2009 2010 2011
Year
I . 101 107 113 121 136 148 150
Value

5. (@) (i) Q@O ©F PR ey Qi
' CIRBRENT D 40 7

Discuss the features of a good
method of forecasting.

(ij) IfEw orerT Rucy «fb o Gt fors | 9

Write a short note on demand
forecasting.
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1241/ Or

(b) () *HerR SEwer e SeEm F4 | 7
Discuss about the limitations of
forecasting.

(i) ofem emfes  Rfew cremRER

| AT 3 | | 9
‘Discuss the various steps in the
process of forecasting. |
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